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-INn English-

You set string to adjust sinker and divid the
welght by three with no remeinder.

In the case that you put weight whose weight
1s 12 Hmonme ]gmonme gy ] monme gy 5 gmall
beam.

In the case that weight 1s puted on medium
beam, its weight is 20meku 95monme 39monme qy
40moku, 50moku, 62.5monme’ 80moku.

In the case that weight i1s puted on big beam,its
weight 1s 100meku ] gQmoku 20Qmoku gy 1(QQmoku,
500moku’ SOOmoku’ lkanme’ zkanme’ 5kanme.

In this way, you decide the weight’s weight.
you can put things on beam as beam don’t have
difference of weight from its root to its end. the
plate 1s made holes for threading string.

You hang weight 16m°nmejn the center between
line which connect to a plate. It widens 2P" a
per lmonme’2rin a per 1bu

Next, you hang weight and measure the
number by the length of the balance.

Possibly, the number may be between line and
line which connect to a plate. And 1t may go
over the line. You dot the gradation where
balance from number that 1monme g5 per
9bu, 1 ()monme g per 9bu gnd 16monme g per 3sun 9bu

Namely, this 16monme 15 ryomoku of weight. You
dot by the ratios.

Also, there 1s a balance. In order to derive
ryomoku of the weight, you take the length
center of the line which connect to a plate. And
you count marks to where the length reach.
This 3su» and 2P worth to 16monme,

Also, for example, you can’t hang above

100meku g9 you hang 200™ku gt the middle scale.

When you think in this way, you add weights.
Or, 1f you want to change to 32menme you apply
1bu g per 1monme  After that, you mark mudame,
and that 1s equivalent to 15" and 10monme gnd
100moku.

Also, you should prop up against two or three
of the scale 1n order to hang especially heavy
thing.

A person in charge: lzumida ,Akatsu
and Ishijima

-How to make a steelyard -
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Beam s string
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Sinker s string
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Plate s string
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9.696 X 3.75=60x
x=0.606CMm
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In the case of 1), The distance between beam’s string and plate’s string is 9.696¢cm. In this case, the weight weigh 60g.
(DWe call the distance between sinker’s string and beam’s string X when you weigh the weight which is 3.75g.
(the distance between beam’s string and plate’s string) X (the weight of the thing on the plate) = X X (the sinker’s weight)
9.696 X 3.75 = 60X

X = 0.606(cm)

Calculating in the same way, 1f you weigh the thing that 1s 0.375 glam, X 1s 0.0606cm.
In the case that X 1s shorter than 0.606cm, the thing weighed by you 1s 3.75g and the distance between sinker’s string and beam’s string 1s 0.606cm.
In the case that you weigh a thing that 1s 60g, the distance 1s 9.696cm.

You draw gradations among above positions of sinker’s string 16 per opening case.
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When you search weight of the sinker, you measure the length from center of beam’s string to plate’s string. And you count scale to there and you decide
position of 1t. When you add 750g to where hang 350¢g at the middle scale, you increase sinkers.

When you adjust total amount of the sinker to 120g, you keep away position of mudame 3.75g per 0.303cm from beam’s string.

Position of mudame...(120g+37.5g) X 0.303cm

=0.9696cm
By the above, this case you should hang sinker’s string to 0.9696cms away from beam’s string. Also if you use two or three steelyard, you can measure
very heavy thing.
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This shows how to make a steelyard that uses different yarns and
weights. This also explains the appropriate distance that balances
from some point to some point. And the appropriate weight that

hangs at its tip.
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We sometimes stuck to the difficulty of sentences, so we should do
more efficiently as it finished within the class time.
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A person in charge: lzumida, Akatsu

51 R

14
FIR75

BESVPENZRELFLIZ, ETILIRETLEDS. WAWAL

S

i NEIZfFZ=FELI=L., HE

MELEL O EFATHI=LNTT,

At first, we struggled to read what is written. But we made use of
each field of expertise.
Each time the content can be seen, we were surprised at the
XNEDHLSITITSHE DT LESEENHD o 1=D T, EEFFAE complexity. And we realized the wisdom and efforts. That was so
hard, but we get a variety of knowledge, and it was precious and
Japanese

nice experiences.

We want to

mathematics.

read more other
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